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PAK JPN CHN SRI TPE B BEa | BEs |8Ex5=E] B
@) @) @) @)
PAK 12 52 9 43 1
— 4 17 - 1 12 — 3 16 — 1
[ ) @) @) @)
JPN 9 29 16 13 2
4 - 7 6 - 3 9 - 1 10 - 5
[ ) [ ) O [ )
CHN 3 14 37 -23 4
1 — 17 — 6 6 — 4 4 — 10
o (] (] (]
SRI 0 10 36 -26 5
3 — 12 — 9 4 — 6 2 — 9
[ ) [ ) @) @)
TPE 6 25 32 -7 3
1 — 16 — 10 | 10 — 4 9 — 2
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KOR MAS SIN BAN KAZ = BEA | Bis |8XkaZE| B
(] @) o @)
KOR 6 25 16 9 3
- 3 3 - 1 3 — 11 14 - 1
@) @) ) @)
MAS 9 30 13 17 2
3 - 5 11 - 1 3 — 6 13 — 1
[ ) o o @)
SIN 3 16 22 -6 4
1 — 3 — 11 2 — 7 12 - 1
@) (@) @) @)
BAN 12 50 8 42 1
11 - 2 — 3 7 — 2 26 — 1
o o o o
KAZ 0 4 65 -61 5
1 - 14 — 13 1 — 12 1 — 26




